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Part IV: Answer these questions, using the balanced equation
and your periodic table (for molar masses). SHOW ALL WORK

2Al1 + Fe;O; 2 ALO; + 2 Fe

31. 20.0 grams of aluminum will react with how many | g“;zubm

igzzzzés%isﬁz?zbzia

é?Bm:%mmm%wm

{ferric oxide(Fe;03)? -
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33.5.0 grams of ferric oxide Ammwmwmv and 10
minum oxa%

Pttty

0 grams of aluminum will

%wacoo how many %SBm of alu
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Part V: Use the Gas Laws to answer the followi mn:%:c:m.

SHOW ALL WORK
Charles’ Law : V|/T1=V,/T;

Boyle’s Law : P1V=P,V,

Avogadro’s Law: Vi/n; = Va/n,
Combined Ideal Gas Law:_P,V;=P,V,

5_1? n .HN
Ideal Gas Law: PV =nRT
R=8.31 L*kPa ; 0.0821 L*atm ; 62.4 L*mmHg
mol*K mol*K

mol*K

AT STP: 1 mol =22.4 L of gas

Piotat = Py + Py +P3 ...

34. What is the volume in liters of 10.0 moles of Eﬁomg mmm at 200.
L 3@3

Kelvin, and 4.5 atm? w

oSSBT

P

z P %ﬁ 4

fo o

mmHg?

Vi = F2Ve Z% gégg 10.:01) {400, mwmt
W Nz = 7.5 L.
36. 20.0 liters of gas at 200. K will have what volume at 400.K?

?
35. 10.0 liters of a gas at 700. BBmm will have what <o_:8m at400.
aMy ;ﬂfx%mw A

37. At STP, how many li ﬂ
2Z.4 L 53¢.0 L

P mw # ﬂhw m;;s 3ye%mm ’ e
Mo Ye Zoob Mo [WVpzuyp g
T F, ok bR | w
a §= 23.93 moles of gas occupy?
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38. A sealed flexible container with an initial volume of 1.0 L is
occupied by a gas at a pressure of 150 kPa at 25°C. By changing
the volume, the pressure of the gas increases to 600 kPa as the
temperature is raised to 100°C. What is the new <oEBo AB

mL)? / “ ) [ GoO 1@
- o [ 150 w@?ﬁ L) 00 ¥fa ) V5
PV . Peve LS HPLRT) 2o /
" o 298¢ 273 K

M z Vzz .33 ;%g

N

39. Determine the total pressure of a gas mixture E& contains |
oxygen, nitrogen, and helium if the partial pressures of the mmmmm

are Poy = 20.0 kPa, Py, = 46.7 kPa, and Py, = 26.7 kPa.
0 kla + Yo7 kfat+ 2o.
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%am W;% A % s m@ﬁ@ :
Wf = 43,4 %ﬁ
Part VI: Fill in the table for the following subatomic particles.
Symbol Name Charge Mass Location
within the
wSE
e- glectyon - 0 orbrtals
p Yoiun +1 |
n’ neut(on 0 M
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